
Age = 313.3 (n = 12255)
Pb0 = 0.815
MSWD = 1.7
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Age = 72.6 (n = 7455)
Pb0 = 0.752
MSWD = 2.8

C6-265-D5 100 µm x 100 µm
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Age = 68.6± 9.5 / 9.8 Ma (n=33)
(207Pb/206Pb)c= 0.742± 0.020
MSWD = 1.0, p(χ2) = 0.52
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Age = 116.3 (n = 1911)
Pb0 = 0.789
MSWD = 1.1

238U/206Pb

C6-265-D5 100 µm x 100 µm
Number of averaged mass sweeps = 4
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Age = 120.7± 7.8 / 8.8 Ma (n=34)
(207Pb/206Pb)c= 0.798± 0.020
MSWD = 0.4, p(χ2) = 1.00

238U/206Pb
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Age = 312.2 ± 5.4/ 11.6 Ma (n=57)
(207Pb/206Pb)c= 0.814± 0.006
MSWD = 1.2, p(χ2) = 0.13




